
1290 SUPER ADVENTURE S, orange 2021 <2021><EU><F9903U4>
FOOTPEGS

55848

Pos Part Number Description Additional Text Quantity

1 61903040033 Footpeg cmpl., left+right 1.00

2 78003041050 FOOTREST R/S 08 1.00

3 78003040050 FOOTREST L/S 08 1.00

4 61903041010 Footpeg rubber cmpl. right 1.00

5 61903040010 Footpeg rubber cmpl. left 1.00

6 61903044000 Footpeg stud 2.00

7 54603041000 FOOTREST SPRING L/S & R/S 2.00

8 0125100003 washer DIN 125 A 10.5 ONLY FOR 640 DUKE 2.00

9 0799060003 retaining washer DIN 6799 - 6 4.00

10 60003044010 CLOSING PANEL FRONT L/S R/S 03 2.00

11 0985050003 Self locking nut DIN 985 M5 2.00

12 6030310109533S FOOTREST MOUNTING 2.00

13 0025080206S HH collar screw M8x20 TX40 SL 4.00

14 61912020090C1 Heel protector, passenger righ 1.00



15 61903049000C1 Rear footpeg bracket, right 1.00

16 61912020080C1 Heel protector, passenger left 1.00

17 61903048000C1 Rear footpeg bracket, left 1.00

18 0025080256 HH collar screw M8x25 4.00

19 0025080256S HH COLLAR SCREW M8X25 TX40 4.00

20 61903051000 Passenger footpeg, right 1.00

21 61903050000 Passenger footpeg, left 1.00

22 60003152000 ENGAGE PANEL FOOTREST L/S 03 2.00

23 60003052000 ENGAGE PANEL FOOTREST R/S 03 2.00

24 60003044100 footrest bolt, rear 2.00


